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- MATHEMATICS, CHEMISTRY AND PHYSICS

GENERAL INSTRUCTIONS

Examinee is directed to read carefully the following
nstructions

1 Examinee must write his her Roll Number in the
specified box on the top left hand corner of this page.
Answers are required to be marked only on the
Computerised O MR Answer Sheel which is being
prowviged to the examinee

Besides filing in the Roll Number. the examinee has ta
put his’her signature on the Answer Sheet and also fill
other required details like Name, Roll Number,
Question Bookiet code, etc. as indicated on the Answer
O MR. Sheet, if these details are not filled in by the
exammee. his’her Answer Sheet will not be evaluated.
For each question, there are four alternative answers,
outof which on'y one is correct. Examinee must darken

the circle of correct option in the Answer Sheet by Black
Point BallPen only
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There are 22 (28+3 pages in this Question-Booklet
Inclucing 1 page for General instructions and two blank
pages for Rough Work in the Iast. In case an examinee
"ecelves an incomplete or defective Question Booklet,
he/she should make a request to the Room invigilator

to change the same within 10 minutes of start of the
exam

5. This Question Booklet contains 150 question from
following subjects

(1) Maths Q. Nes 1- 50
(2) Chemistry Q. Nos 51-100
(3) Physics Q. Nos 101-150

6 Each question carries 1 mark and 1/4 mark will be
deducled for each wrong answer.

In case of any discrepancy between the English and
Hindi versions of any question, the English version will
be treated as final/authentic.

8  Possession and use of electronics devices such as
Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, etc , are restricted during the examination.

9 Any leaf from the Question Booklet should not be
detached. After the Examination, Answer Sheet must
be handed over 1o the Room Invigilator.

10. During Examination the examinee will not be allowed to
leave the examination hall till END of the Examination.

1. Examinee can carry Question Booklet once the
Examination is completed
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MATHEMATICS

Number of solutions of the equation
tanx + secx = 2cosx lying in the
interval [0, 2n] is

A) 0 B) 1
¢ 2 D) 3

If sinB and cosB are the roots of

ax’ - bx + ¢ = 0, then the relation
between a, b and c will be

A) a’+b?+2ac=0
B) a’-b’+2ac=0
C) a’+c?+2ab=0
D) a’-b’-2ac=0

@

000RA0O®
@polytechnic

The Cartesian equation of the line is
3X+1=6y—-2=1-2zthenits
direction ratio are
A) 1/3,1/6,1

C) 1/3,-1/6,1

B) —1/3,1/6,1
D) 1/3,1/6,~1

The image of the point P(1,3,4) in the
plane2x-y+z=0is

A) (-3,5,2)
C) (3,-5,2)

B) (3,5, 2)
D} (3! 57 _2)

The coordinate of foot of
perpendicular drawn from the point A
(1,0,3) to the join of the point B (4,7,1)
and C (3,5,3) are

A) (513, 713, 17/3)
B) (5,7,17)

C) (513,713, 1713)
D) (5/3, -7/3, -17/3)
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BV tanx + secx = 2cosx @

AdRTA [0,2n] ¥ Rera gat a0
e @

A) 0 B) 1

Cc) 2 D) 3

I sind 3R cosd ax’-bx+c=0
@ a2, A a,balRcd A
qed BT

A) a’+b®+2ac=0

B) a’-b’+2ac =0

C) a’+c?+2ab=0

D) a*-b’-2ac=0

ET BT Brara GhHer
x+1=6y-2=1-z 2 a
goaar faem o 2

A)  1/3,1/6,1 B) -1/3,1/6,1
C) 1/3,-1/6,1 D) 1/3,1/6,—1

uHae 2x -y +z=0 ¥ fdg P(1,3,4)
&7 ufafae 2
A) (_3: 59 2)
C) (3,-5,2)

B) (3,5,2)
D) (3,5,-2)

g A(1,0,3) & g B (4,7,1) 3=
C (3,53) & wils d& «A U g §

e & e &
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A) (5/3,7/3, 1713)
B) (5,7,17)

C) (5/3,-7/3,17/3)
D) (5/3, -7/3, -17/3)
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The locus of a point, whose abscissa
and ordinate are always equal is

A) x+y+1=0

B) x—-y =0 @

C) x+y=1

D) None ofthese O00RAOAGQ
@polytechnicwalle

If two vertices of a triangle are (3, -2)
and (-2, 3) and its orthocentre is
(-6, 1) then its third vertex is

C) (5,-3) D) (-5, -3)

The locus of the point from which the
tangent to the circles x> + y* -4 = 0
and x* + y* —-8x + 15 = 0 are equal is
given by the equation

A) 8x+19=0 B) 8x-19=0
C) 4x-19=0 D) 4x+19=0

The center of the ellipse
(x+y-2)°19+(x-y)’/16=1is

A) (0,0)
C) (1,0)

B) (0, 1)
D) (1,1)

A vector in the direction of vector

i-2j+2k that has the magnitude 15 is

A) i—2}+2|2
3
B)  15i-30j+ 30k

c)  i-2j+15k

D)  5i-10j+10k
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10.

Sw fag &1 Rigua, s 9w sk
PIfe A9 WER B 8, '

A) x+y+1=0

B) x-y =0

C) x+y=1

D) s W HIg TEN

afy e Brgw & <« @M (3, —2)
3R (—2, 3) & 3R ST ddP %
(6, 1) 2 a1 g Ao @i 2

A) (5, 3) B) (-5,3)
C) (5! —3) D) {_5! '—3)

sw fig &1 faguyr wEl @ g
X2+ y*—4 =0 X x* + y*-8x + 15 =0
) el ¥@T axER &, GHIHNeT g1
o= T

A) 8x+19=0

C) 4x-19=0

B) 8x-19=0
D) 4x+19=0

defga (x+y—2)* 19+ (x—y)* /16 =
1 &1 B5 2

A) (0,0) B) (0,1)
c) (1,0) D) (1,1)

afewr i-2j+2k &Y feen § va wfew
e afmmor 15 2

A i-2j+2k

3
B)  15i-30j+ 30k
¢)  i-2j+15k

D) 5i-10j+10k
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1.

12,

13.

14.

The function of f : R - R be given by
f(x) =x* + 2 and g: R » R is given by
g(x) = x/(x=1). The value of gof(x) is

A) (x*+2)1(07+1)
B) x°/(x*+1)

C) x*I(x*+2)

D) None of these

If a, B, p are the angles made by a
half ray of a line respectively with
positive directions of X-axis Y-axis
and Z-axis, then sin?a + sin® 3 + sin?
H=

A)
B) 0
c) -1

D) None of these

Let f : R - R be defined as f(x) = x*,
then

A) fis one—one onto
B) fis many-one onto
C) fis one-one but not onto

D) fis neither one—one nor onto

Let A={1,2,3} and B = {a, b, c} and let
f = {(1,a), (2,b), (P,c)} be a function
from A to B. For the function f to be
one—one and onto , the value of P
equals

A) 1 B) 2
c) 3 D) 4
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1.

12.

13.

14.

Ay a1 f: R> Rf(x) =x*+2 &1
ﬁ:ﬂTWﬁGﬁ'\'g:R—) R g(x) =
x/(x-1) g1 f&ar Smar @ oY gof(x) &1
a9 2

A) (X +2)/ (3 +1) @
B) x*/(x*+1)

C) X1 (x*+2)
D) &1 & ®Ig =g

afy a, B, p HAA: X-3ET Y- 3R
Z-33" B gaTHG fewman arel Y@=
@1 e fHvor gRT 9w v @ty F,
ql sina + sin? B + sin*p =

A) 1
B) 0
c) -1

D) 9 9 &g &)

7 AT f:R-R &) fix)=x* &
w9 A gReiya fear wmar 2, o

A) f Uhd JTBIEE 2
B) f 9gU® amwBIes 2
C) fuaa ? Afea s 48 2

D) fadl a2 RAN
ATVIqh

a4 eifoie A= {1,2,3) a3k B={a, b,
c} 3 f = {(1,a), (2,b), (Pc)} &
G €1A ¥ B a9% Uh Bad f D
T 3 rwses B @ fog, P
® HIH =

A) 1 B) 2

c) 3 D) 4
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16.

17.

18.

=
If
£ RAR, T x|x|-4,xeQ
:R-R, f(x) =

x|x|-/3x¢ Q'
then f(x) is

A) one to one and onto
B) many to one and onto
C) one to one and into

D) many to one and into

The function f: R » R defined by
f(x) = (x—1) (x-2) (x-3) is

A) one-one but not onto
B) onto but not one—one
C) both one—-one and onto

D) neither one—one and onto

Limy-o{(x + 6) / (x + 1)}**Y equals
A) e
B) ¢°
Cc) ¢€°
D) e°

Limpe{1+ 2% +3%+ +n%}/nd

is @

- 000A0ReQ
B) 1 @polytechnicwalle
c) -1

D) n

- Page No. 6

15.

16.

17.

18.

B

afy

X|x|-4,xeQ
FRoR 0= XIXI—J@er'}
ar f(x) &

A) THdI IR ATBIED
B) 9gU® 3iIX JATWIEH
C) Uad IR anf~aR® mewes
D) gy IR anfaRe amwors

f(x) = (x=1) (x=2) (x-3) } g1
R v f:R>R2

A) Tad AfHT ImEees T
B) 3me8Ie®d ofes yd@d) T8
C) UYaa IR Iresresd Y

D) & o gad Ik 7 &
ATWIqh

Limy-.o{(x + 6) / (x + 1)}*** gerax 2

A) e

B) é°

Cc) é°

D) e°

Limpoo{1?+ 22+ 3%+......4 n}} I n°
@1 A B

A) 0

B)

¢y <A

D) n





19.

20.

21.

22,

23,

Differentiation of cosvx with respect
toxis

A) sinx/ 2Vx
B) -sinx/2vx
C) sinVx/2vVx
D) -sinVx/2Vx

The expansion of log(1 - x) is
A) x-x12+x3 -
B) x+x¥2+x%3+.......
C) —x+x¥2-x%3+
D) —x-x2-x%3-

The value of ¢ in Rolle’s theorem for
the function, f(x) = sin2x in [0, /2] is

A) nl/4
B) =n/6
C) m/2
D) n/3

If xsin(a+y) = siny, then dy/dx is equal
to

A) [sin’(a+y)] /sin a
B) sina/[sin’(aty)]
C) [sin(a+y)]/sina
D) sina /[sin(a+y)]

If x”.y* = 16 then dy/dx at (2, 2) is
A 0

B) 1

Cc) -1

D) None of these

Page No. 7

19.

20.

21.

22,

23.

X B WHIE cosvVx & adhaAT 2
A) sinx/ 2Vx

B) -sinx/2Vx

C) sinvx/2vVx

D) -sinVx/2Vx

log(1-x) &T ¥ER 2

A) x-X2+x3—......
B) x+x¥2+x¥3+.........
C) —x+x¥2-xY3+
D) -x-x2-x3-

(" & W99 & ¢ &1 74, wone, §
B f(x) = sin2x 2

A) m/4 E N

B) n/6

C) wl2 000E0AQ
@polytechnicwalle

D) w/3

AR xsin(a+y) = siny a1 dy/dx 9XmER
2

A) [sin’(a+y)]/sina
B) sin a/[sin’(a+y)]
C) [sin(a+y)]/sina
D) sina /[sin(a+y)]

e Xy =162 at dy/dx (2,2) R 2
A) 0

B) 1
c) -1
D) 9% @ &g

EE(LE)2022





24.

25.

26.

27.

28,

ll*"
<

l.‘_'.

Forx € R, f(x) = | log 2 — sinx | and

a(x) = f(f(x)) then

A) g is not differentiable at x = 0

B) g’ (0) =cos(log 2)

C) g’ (0)=-cos(log 2)

D) g is differentiable at x =0 and
g’ (0) = - sin(log 2)

f(x,y) = sin(xy) + x*In(y) Find f, at (0,
2)

A) 33
B) 0
c) 3
D) 1

f(x,y) = x>+ y*; X= t* + t%; y= t*+t’ Find
dfidtatt=1

A) 0

B) 1 @
c) -1
D) 164

The domain of the function
f(x) =x/(x*+3x +2) is

A) [-2,-1]

B) R-{1,2}

C) R-{-1,-2}

D) R-{2}

20th term from the last term of the
A.P.3,8,13, ..., 253 is:

A) 147 B) 151

C) 154 D) 158

Page No. 8
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24,

25.

26.

27.

28.

x ER @ faw, f(x)=]log 2 -sinx |
Al g(x) = f(f(x)) a9

A) x=0Uu¥ g dadeg TE @
B) g’ (0)=cos(log?2)
C) g’ (0)=-cos(log2)

D) x=0 3R g’ (0) =-sin(log 2)
W g yghANY @

f(x,y) = sin(xy) + x’In(y) ¥ (0, m/2)
R f, AT

A) 33
B) 0
o
D) 1

fixy) =x*+y% X=t+ £ y=t+t'al t
=1 Ux df/dt sITd HIRAY

A) 0
B)

c) -1
D) 164

G f(x) = x/ (x* + 3x + 2) BT ST
2

A) [-2, 1]
B) R-{1,2}
C) R-{-1,-2)
D) R-{2}

AP.3, 8,13, .., 253 @ 3iftw 1g A
204t g @

A) 147 B) 151

C) 154 D) 158
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29.

30.

3.

32,

II‘.l.

<

l,_ll_.'

The famous mathematician
associated with finding the sum of
the first 100 natural numbers is

A) Pythagoras
B) Newton

C) Gauss

D) Euclid

If Iog% + Iog% =log(a+b) then

A) a+b=1 @

B) a-b=1 000RAOASQ
@polytechnicwalle

C) a=b

D) a’-b*=1

If log,,2=0.3010 |, the value of
log,, 80 is:

A) 1.6020

B) 1.9030

C) 3.9030

D) None of these

The value of

[ L + ! + 1 }is
log,60 log,60 log,60
A) 0

B) 1

C) 5

D) 60

Page No. 9

29,

30.

31.

32,

AUH 100 WTHA A BT AT FIAq

we et wfrg s @

A)  UTSATIIRY
B) we+

C) T\

D) Yfras

afe Iog%+|og§=log(a+b) , ar

A) a+b=1
B) a-b=1
C) a=b

D) a’-b’=1

afe log,,2=0.3010 at
log,, 80
A) 1.6020
B) 1.9030
C) 3.9030
D) ¥ & g T

BT 7 2

1 1 1
+ +
[Ioga 60 log,60 log,60

&1 A 2
A) 0
B) 1
c) 5
D) 60
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33.

34.

35.

36.

37.

If for some number a and d, if first
term is 1/a, second term is 1/(a + d),
third term is 1/(a + 2d) and so on,
then 5th term of the sequence is?

A) a+dd

B) a-4d

C) 1/(a+4d)

D) None of these

Which of the following gives the right
inequality for AM, GM, HM?

A) AM>=HM>=GM
B) GM>=AM>=HM
C) AM>=GM>=HM
D) GM>=HM>=AM

If A and B are symmetric matrices of
the same order then, (AB’ - BA') is a
A) Skew symmetric matrix

B) Null matrix

C) Symmetric matrix

D) None of these

For any of two matrices A and B, we
have

A) AB=BA
B) AB <>BA
C) AB=0

D) None of the above

If A is a square matrix of order 3 and
|A] = 5, then the value of [2A"] is

A) -10
B) 10
C) -40
D) 40

Page No. 10

33.

34.

35.

36.

37.

afe fodft e a R d @ fag, aRy
Ugdll U4 1/a 8 FEU 4T 1/(a + g)
2 AR uT 1(a + 2d) ? IR I
ae amt A, @ AgHT FT 541 ug
2?

A) a+4d

B) a-4d

C) 1/(a+4d)

D) 3% W HIg e

frfafRaa ¥ @ &9 AM, GM, HM
@ fag 9 arywar aar 27

A) AM>=HM>=GM

B) GM>=AM>=HM

C) AM>=GM>=HM

D) GM>=HM>=AM

afg AR B 999 dife @ gafia
amegg &, °f (AB’-BA")T&H 2
A) frer wafva dfew

B) v Afgw
C) <ufya Afgaw
D) 9% & HIg &Y

fo=di <1 aregE A R B @ farg,
TR UM @

A) AB=BA

B) AB<>BA

C) AB=0

D) I | &I¥ &

< A B9 3 &1 & o ayregw @
AR JA|=5 R A |2A"| &7 WA @

A) -10
B) 10
C) -40

D) 40

EE(LE)2022



38.

39.

40.

41,

42,

The area of a triangle with vertices
(-3, 0), (3, 0) and (0, k) is 9 sq. units.
The value of k will be

5 3 @
B) 3
o) s 000R0ROQ

@polytechnicwalle
D) &

Given that A =[ a;] is a square matrix
of order 3x3 and |A| = -7, then the

valueZi =1%ap A; where A
denotes the cofactor of element ajjis
A 7 B) -7

c) o0 D) 49

The Cartesian equation of the lines is
x+1=6y-2=1-zthenits
direction ratio are

A) 1/3,1/6,1

B) -1/3,1/6,1 @

C) 1/3,-1/6,1 000A0RNGQ
D) 113,16, -1 @polytechnicwalle

If A and B are invertible matrices,
then which of the following is not
correct?

A) adj A=|ALA™

B) det(a)™" = [det (a)] "
C) (AB)'=B"'A™

D) (A+B)'=B"+A™

The coefficient of the middle term in
the expansion of (2 + 3x)*is :

A) 5| B) 6
C) 216 D) 8!

Page No. 11

38.

39.

40.

41.

42.

Ml (-3, 0), (3, 0) 3k (0, k) arat

Brs &1 dawd 9 avf s@rd 2 «
BT A 8

A) 9
B) 3
C) -9
D) 6

fear mar @ &Y A=[a;] 3x3@ife
&1 U@ T g 2 S |A|=-7.
al Ti =13ap Aip BT UM, W8T A
T a; & GeoR® & quriar &
A) 7 B) -7

C) o D) 49

QT3 BT BT GBI 3x + 1 =
6y-2=1-2z 2 o sHaT foun
T @

A) 1/3,1/6, 1

B) -1/3, 1/6, 1

C) 1/3,-1/6,1

D) 1/3, 1/6, -1

aft A 3R B Fopaviia amege €,
af fr=fafaa 4 ¥ af9 a1 9 98
87

A) adj A=|ALA™

B) det (a)™" =[det (a)]"

Cc) (AB)'=B'A™

D) (A+B)'=B"'+A"

(2+3x)" @ WOR Y 759 yg By
Ao B

A) 5! B) 6
C) 216 D) 8!
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43

47.

The largest coefficient in the
expansion of (1 + x)"is:

A) 101/ (5)°
B) 101/5!

C) 101/(5) x 41)°
D) 10!/ (5! X 41)

The coefficient of x'y* in (2x+3y”)* is
A) 360
B) 720
C) 240
D) 1080

If n is the positive integer, then
2°" - 7n-1 is divisible by

A) 7

B) 10

C) 49

D) 81

if tan A = 1/2 and tan B = 1/3, then the
valueof A+Bis

A) w/6 @

= = 0003008Q
C) o @polytechnicwalle

D) ni4

The value of cos 1° cos 2° cos 3°...
cos 179° is

A) 12
B) 0
c) 1
D) -1

Page No. 12

43.

45.

46

47,

(1+%)"° & we A G AsT e
2

A) 1017 (51)°

B) 101/5!

C) 101/ (51 x 41)’

D) 101/ (51X 41)

(2x+3y’)° H X" @1 Qe @
A) 360
B) 720
C) 240
D) 1080

afy n g=ca® qUiid @, df
2" 7n-1 fpaa grT fwsa @
A) 7

B) 10

C) 49

D) 81

afe tan A=1/2 33X tan B=1/3, ai
A+Ba& 94 2

A) nl6
B) =n
c) 0
D) n/4

cos 1° cos 2° cos 3° ... cos 179° &l
2

A) 11V2
B) 0
c) 1
D) -1
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48.

50.

l.u...

Ll

The value of sin50° - sin70° + sin10°
is equal to

A) 1
B) 0
C) 12
D) 2

The value of
sin(45° + @) — cos(45° - 0) is
A) 2cos?9

B) 2sin®
c) 1
D) 0O

If A lies in the second quadrant and
3tanA + 4 =0, then the value of
(2cotA - 5cosA + sin A) is equal to

A) -53110

B) 23110
C) 3710
D) 7110
000RA0PSQ
@polytechnicwalle
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48.

49,

50.

sin50° - sin70° + sin10° &1 M+
Y gl @

A) 1
B) 0
c) 112
D) 2

sin(45° + ) — cos(45° - 0) &1 "I

A) 2cosH
B) 2sing
c) 1
D) 0

Ife A R agafa  Rea 2 &k
3tanA+4=0 =, A (2cotA - 5cosA
+sin A) &T A9 RM&X 2

A) -53/10
B) 23110
Cc) 3710
D) 710
000RA0PSQ
@polytechnicwalle
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31.

52.

53.

54.

55.

56.

57.

CHEMISTRY

Which of the following polymer
contains amide bond?

A) Nylon 6,6

B) Terylene
C) Teflon

D) Bakelite

Caprolactam is the monomer of?

A) Nylon-6

B) Nylon 6,6

C) Terylene

D) None of these

Which of following is condensation
polymer

A) Polythene
B) PVC

C) Teflon

D). Nylon 6,6

What is heavy water?

A) H,0

B) H,0,

C) D,0

D) None of these

The salt responsible for permanent
hardness of H,0 is

A) N32504

B) Mg(HCO,),
C) NacCl

D) MgCl,

The bond angle and dipole moment of
water respectively are

A) 109.5° and 1.84D
B) 107.5° and 1.56 D
C) 104.5° and 1.84D
D) 102.5° and 1.56D

The reagent commonly used to
determine hardness of water is
A) Oxalic acid

B) Sodium citrate

C) Disodium salt of EDTA
Q)/ Sodium thiosulphate
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51.

52.

53.

54.

55.

56.

57.

WA fagms

g ¥ BT TgAD N UIES ey
g 2 |

B) 2R
D) d@drse

dRagen Fr=fafad & @ foge;
Thad 2?7

A) ATIHI-6

B) AT 6,6

C) eRef=

D) g™ @ @Y

fr=fafga & @ <9 g T|Ad

A) Il 6,6
C) <wAT

2
A) uifaefim

B) PVC

C) 2udld

D) Ul 6,6

AN T &7 27?

A) H,0
B) H,0,
C) D,0
D) s @ B

9T S Wil @ IRl $elkar @
forg Saverf 2

A) NagSO4

B) Mg(HCO,),
C) NacCl

D) MgcCl,

Gl &1 9997 BIoT qgofy Jregof
HHL: BraT 27 e

A) 109.5° 3% 1.84D
B) 107.5° 3k 1.56D
C) 104.5° 3\¥ 1.84D
D) 102.5° 3k 1.56 D

Sl B Baivar Prafvo @ fig
ST ¥ o @

A) Iiifas thye

B) wifsaw e

C) EDTA &r srguifeay uree
D) wifeww urwege
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59.

60.

61.

62.

63.

65.

Which of the following is
diamagnetic?
A) CrCI3

B) CuCl,
C) ZnCl,

D) CuSO,

Which of the following does not
belong to fist transition series?
A) Silver B) Cobalt

C) Chromium D) Vanadium

Which of following is Bell metal.
A) Cu+Pb B) Cu+Sn .
C) CutZn D) Cu+Ni

Which of the following contains
minimum number of unpaired
electron?

A) zZn' B) Fe**

c) N D) cu’
Gun metal is

A) Cu+Sn
C) Zn+Sn

B) Cu+Sb
D) Cu+Sn+Zn

Which of the following is Lunar
caustic?

A) Ag,S
C) AgNO;

B) Ag.SO,
D) AgCl

Calamine the ores of

A) Zn B) Fe
c) Al D) Ni

General electronic configuration of
transition element is

A) (n-1)d"" ns'
B) (n-1 )dMﬂ ns'0?
C) ns’nP®

D) None of these

Which metals are best catalyst?

A) Transition metal

B) Alkali metal

C) Alkaline earth metal
D) None of these

Pege o 15

58.

59.

60.

61.

62.

63.

64.

65.

66.
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T W 3l sEATifee 27

A) CTC|3

B) CuCl;
C) ZnCl,

D) CuSO4

T A B9 wUH WHAY g Sl A
&) 3rar 87

A) Ryeraw B) ®lefee
C) wifrw D) AAfeaw
T 4 39 9 dea &)

A) Cu+Pb B) Cu+Sn

C) Cu+zn D) Cu+Ni

T A e arpfia gaaget A

& SraT 87

A) zn' B) Fe®

c) N* D) Cu'

T A 2|

A) Cu+Sn B) Cu+Sb
C) Zn+Sn D) Cu+Sn+Zn

T ¥ P R FRfesd 287

A) Ag;S B) Ag.SO,
C) AgNO, D) AgClI
PAAET TP 2 |

A) Zn B) Fe

Cc) Al D) Ni

HHHAYT Tcd HT AT FAFCI D

fa~ma 21 @
A) (n-1)d"" ns'

B) (n-1)d"""ns'? 0OO00A0ASQ
C) ns’nP® @polytechnicwalle

D) &7 4 313 &

B A gl I IS 2?
A) HHHU ©Tg

B) Udiddl ©Tg

C) &y T ury
D) ™ d &g &
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68.

69.

70.

7.

72.

In the Profanation of Bakelite plastic
we use

A) Phenol and Formaldehyde

B) Phenol and Acetaldehyde

C) Ethylene

D) None of these

The following reaction occurs in a
cell. Zn(S)+CO* (ar) Zn® (ar) + CO(s) if
E°CO/CO™= +0.28 and E°Znizn® =

+0.76V then the standard emb of the
cell would be

A) -0.28v
C) +1.04v

B) +0.48 v
D) -1.04 v

The IUPAC name of neopentane is:

A) 2-methylpropane

B) 2, 2—dimethylbutane
C) 2-methyl butane

D) 2, 2-dimethylpropane

The systematic name of CH,-CHBr-
CH,OH is

A) 3-hydroxy-2-bromopropane
B) 2-bromopropanol-1

C) 2-bromo-3-propanol

D) 3-hydroxy isopropyl bromide

Which of the following statements
about coordination compounds’
bonding is incorrect?

A) Crystal Field Theory

B) VSEPR Theory

C) Valence Bond Theory

D) Molecular Orbital Theory

Which of the following is borax?

A) NazB,q(J? 10H20
B) Na,CO;10H,0

CJ CUSO4 5H20

D) ZnSO,7H.,0

000RA0RS
@polytechnicwalle Page No. 16

67.

68.

69.

70.

71.

72,

@

000RA0PSQ
@polytechnicwalle

dDdEe WIRked a1 A gqanT
[T A A 2

A) feta @il wrfcdsags
B) f¥afa 3 tRiederss
c) sfuef=

D) T ¥ &Y T

s Ad ¥ Frifea sifvfear g @
Zn(S) + CO* (ar) - Zn* (ar) + CO(s)
If§ E°CO/COY= +0.28 3R E°Zn/Zn®'
= +0.76V 8 A da &1 AES fagad
qred 9o BT

A) -0.28v
C) +1.04v

B) +0.48 v
D) -1.04v

3| &1 IUPAC =W @

A) 2—feTgamid+
B) 2, 2—sTsfengasye
C) 2—fhargal =2
D) 2, 2—sEfuTgam=

gH;-CHBr-CH;OH HT af¥erd A

A) 3—gTggiai—2—a =

B) 2—sHMHTa —1

C) 2—sri—3-muAra

D) 3—grggiadl ngauifia slags

a9y dfirel @ Heg @ AR A
g‘mrﬁ‘-lmaﬁﬁaﬁqum
?

A) fped wiee fagia
B) fivugdiamr figra
C) ddy s~ fugia
D) anPas wafia Rigia

T QA BT IRaw 2?2

A) Na,B,0;10H,0
B) Na,CO,;10H,0
C) CuS0O45H,0
D) ZnSO,7H,0
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73.

4.

75.

76.

77.

_

The wave nature of electron is given
by

A) De-Broglie

B) Sommerfeld

C) Heisenberg

D) Bohr

Which of the following statements
about starch is incorrect?

A) It gives blue colour with iodine
B) Itis a polymer of a-D-glucose
C) Itis areducing carbohydrate
D) It consists of branched chains

The half life period of a radioactive
element is 140 days. After 560 days
1g of the element will reduce to

A) 12g
B) 1/4g
C) 1/8g
D) 116g

When an electric current is passes
through acidulated water 112 ml of
hydrogen at NTP collects at the
cathode in 965 seconds. The current
passed in ampere is

2, ©

B) 0.5

C) 01 000A0RSQ
D) 2 @polytechnicwalle

When the temperature rises, what
happens to the peak of the curve in
the Maxwell-Boltzmann distribution
graph?

A) Shifts forward and upward

B) Shifts forward and downward
C) Shifts backward and upward

D) Shifts backward and downward
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73.

74,

75.

76.

77.

gAagt & A uaf & a § aram

A)  H-arreh
B) PR Wce
C) wrgwHad
D) ax

wrd & ar ¥ Frafafaa 4 @ st @
& TTefa &7

A) a8 I B dra Fraw I e 2
B) 48 a-D-"o@ &1 dgd &
C) W% (& &H FA ardl S1alezee 2
D) s9d wfaw vk ek &

e WA @y a@ @ ad ey
140 f&=7 21 560 fRAY @ @15 9@ @
1g HedN & SR

A) 1/2g
B) 1/4g
C) 1/8g
D) 116g

94 Ue faga gwr el $9 wa §
yarfed @1 ol 8 a dAle W 965
Y58 ¥ 112 ml EEEIST W0 dlo
T TR UhdA aIdl 81 TR &
yqifed 9RT @

A) 1
B) 05
c) 0.4
D) 2

A) I AR FWR B A Rawear 2
B) amt 3k MR 1 AR Rawwar @
C) W8 & IR IR I # AR

2
D) AR AR A AN AR
2

s
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78.

79.

80.

81.

82.

The absolute mass of an electron is

A) 1.66X10%g

B) 9.108X10%"g
C) 1.66X10%'Kg
D) 9.108X10™Kg

Which one of the following electronic
structures will be of the atom of noble
gas?

A) 1s?2s®2p®3s?3p?

B) 1s?2s?2p®3s?

C) 1s?2s?2p®3s?3p*

D) 1s?2s?2p®3s?3p°®

The number of electrons in a

molecule of H,S0, is @

Al & 000E0NeQ
B) 7 @polytechnicwalle
C) 49

D) 50

An anion X* has 36 electrons and 45
neutrons. what is the atomic number
of X?

A) 36 B) 72
c) 33 D) 66

Electromagnetic radiation with
highest wave length is

A) IR

B) Radiowave
C) X-rays

D) u.v.
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78.
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80.

81.

82.

ud gAagls &1 e garme gdar

el

A) 1.66X10%g
B) 9.108X10™g
c) 1.66X10*'Kg
D) 9.108X10%'Kg

Prefified o &9 @ gATRIED
et A e @ gAY B e
A) 1s?2s?2p°3s?3p’

B) 1s?2s?2p°3s’

Cc) 1s?2s?2p°3s”3p*

D) 1s?2s*2p®3s”3p°

H,SO,® 3] ¥ Faagl-l &1 G&l
21

T 87?7
A) 36 B) 72
Cc) 33 D) 66
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83.

84.

85.

86.

87.

Bohr model postulate is

A)  mvr=mn/2n
B)  mvr=hm/2n
C) mvr=nh/2q
D) None of these

The mass number of thorium is 232
and its atomic number is 90. The last
product of disintegration series is
lead whose mass number is 208 and
atomic number is 82. The total
number of particles emitted is

A) 2aandS5R @
B) 6aand4R
000RA0NGQ

C) 4aand 3R @polytechnicwalle

D) 3aand4R

A radio active element has a life
period of 1500 years. 1g of the
element is kept in a sealed tube. After

3000 years the amount of element left
will be

A) 1g
C) 0.25¢g

B)0.5¢g
D) 0.05g

Which one is the correct equation
that represents the first law of
electrolysis?

A) w=ct/z B) w=zct

C) w=zt/c D) w=c/zt

The amount of electricity should be
passed through CuSO, solution with
copper electrons to deposit 0.1 gram
atom of Cu is

B) 9,650 C
D) 1,93,300 C

A) 96,500 C
C) 19,300C
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83.

84,

85.

86.

87.

A Higel &) Weaeys a?

A)  mvr=mn/2n

B) mvr=hm/2n

C) mvr=nh/2n

D) s & Hd )

MRI A gamm= G 232 G2
U HEm g0 2| fages A9 @
At ST de 2 R gamm
WA 208 IR URE] W a2 2
Scafsta o A el de 2

A) 2a 358
B) 6a3ivan
C) 4da3ivir
D) 3a3ailv4m
s oA wfpa @@ @
AE—IYBTA 1500 9§ 2| 1g aeq
U% 9% Tell 4 @ fmr wmar 2
3000 a¥ & 9I€ T@ @ AN HE
g |

A) 19
C) 0.25¢g

B) 0.5¢g
D) 0.05¢g

faga saes @ wom frm @)
Frofta s arar &9 9@ gfievor
8?

A)  w=ct/z B) w=zct

C) w=zt/c D) w=c/zt

figa & a8 71 WY 0.1 W wRE
Cu W &M @ fag siw
gAFEISl & W CuSO, @ faewm
# yarfea Y sl afsy ¥

A) 96,500 C
C) 19,300C

B) 9,650 C
D) 1,93,300 C
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88.

89.

90.

91.

92.

93.

Degree of ionization does not depend
on:

A) Nature of solvent

B) Nature of electrolyte

C) Dilution

D) Molecular mass of electrolyte

Corrosion of iron can be prevented by

l\k Painting the surface with
aqueous solution of NaCl

B) Electroplating of metal with zinc

C) Applying a thin film of oil or
grease on iron surface

9) Covering the metallic surface by
any metal

The PH of a 107'° (M) NaOH Solution is

nearest to
A) 10 @

B) 7 000RA0PSQ
[C); 1‘; @polytechnicwalle

The unit of specific conductivity is

A) ohmec.m.

B) ohm'c.m.”
C) ohmc.m.”

D) None of these

White lung cancer is caused by

A) asbestos
B) silica

C) textiles
D) paper

Depletion of ozone layer causes

A) Blood Canser
B) Lung Cancer
C)~ Skin Cancer

) Breast Cancer
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Ry aifw smarTgore Frev @

p) femas & agfa

B) ﬁqﬂmua?gazﬁ“
c) faea w)

D) frga svEed & FATIT W

AR A o aTe ST B AT S

Hadl 2 |
A) w2 @ wag send |ifead

FARTSS & ©lcd gIRT
B) fsid @ gadcIfET gl
c) dd @ M B gadAl qAE A

B
D) fufl ¥R o1g A TP B

107° (M) NaOH faaa=1 &1 PH

frpean &rar @
A) 10
By 7
c) 4
D) -10

fARTT Archdl &1 H1F® © |

A) sy |

B) s [
Cc) 3w /M.’

D) 39 ¥ & &

R®IFC & DA BT HROT BT 2 |

A) THYUSH
B) fuferat
C) CFgeSd

D) Uux

IS A ¥ g @ SR gar @

A) T DR
B) BHS &1 $ER
C) w4l d4ux
D) wWH 4R
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94,

95,

96.

97.

98.

99.

100.

Whi{:h of the following is present in
maximum amount in acid rain?

A) HNO, B) H,SO,
C) Hcl D) H,CO,

London smog is found in

A)  Summer during day time

B) Summer during morning time
C) Winter during morning time
D) Winter during day time

Which of the following is a secondary
pollutant?

A) CO, B) N,O
C) so, D) PAN

The atmospheric gas which cannot
produce green house effect is

A) N, B) H,0
C) co, D) O,
BODs is

A) Waste decomposed in 5 days

B) Oxygen usedin 5 days

C) Micro organism killed in 5 days

D) Dissolved oxygen left after 5
days

Which of the following is coldest
region

A) Troposphere
B) Mesosphere
C) Stratosphere
D) Thermosphere

Natural rubber is the polymer of

A) Ethylene
B) Benzene
C) Isoprene
D) None of these
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sreli auf & g% @ fpasr Ay
e gar 27

A) HNO, B) H,SO,
C) Hcl D) H,CO,

e WINT 9T wrer 2

A) T ¥ e @ g
B) it ¥ yaw @ www
C) 3T ¥ gar @ wwy
D) dSe ¥ foa & wuy

m@aﬁﬁﬁfﬂ'ﬂﬁmg?

A) CO, B) N,0
C) SO, D) PAN

Faraefim 9 s N9 arey g
T8 I~ Hed) 2

A) NZ B) Hzo
C) co, D) O,
BOD;2 |

A) awe gerf &1 5 R fges
B) 5 f& % Sughr far war

C) s fe=
D) 5 fem

T 4 P9 W Hed wad g7 2

A) & Hed @

4 quﬁsa 000R0RQ
A -

g; qTe a-r;fga @polytechnicwalle

W fad Y& 5o @

A) sfEref=

B) awiH

C) amsai=

D) % ¥ &I =&Y

’
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101.

102.

103.

104.

105.

PHYSICS

A metal bar measures 50cm of 0°C
and 50.048 cm at 80°C. The co-
efficient of linear expansion of metal
is

A) 2.8x10°°c™’

B) 4.2x10°°c™

C) 3.2x107 °c*’

D) 1.2x10%°c”

A body cools in 7 minutes from 60°C
to 40°C. What time does it take to
cool from 40°C to 28°C, if the
surrounding temperature is 10°C.

A) 10 Minutes @
B) 8 Minutes

C) 7 Minutes
D) 5 Minutes

What is the velocity of a transverse
wave along a wire of length 1000m
and weight 2.5 kg of the wire is pulled
taut by a force of 196N.

A) 180 ms™
B) 380 ms”
C) 420 ms™
D) 280 ms”’

The phenomenon of sound
propagation in air is

A) Isothermal process

B) Adiabatic process

C) Isobaric process

D) lIsochoric process

At resonance the amplitude of
vibrating body placed in vacuum is
A) Infinite

B) Maximum

C) Minimum

D) Zero
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101.
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105.

Aifas fasm=

g @ Uh Bs @ a=rg 0°C WX
50 Q.M. TAT 80°C WX 50.048 Wl
Ay ol 21 eng @1 ¥EI TER
AT B |

A) 2.8x10°°c”

B) 4.2x10°°C”

c) 3.2x107 °c”

D) 1.2x10°°C”

us aeg @ 60°C W 40°C TP IS
g 4 7 fime @war 21 40°C W
28°C d® dsI 8 A feaTl @q9g
e, afy araraver &1 ararE 10°C
el

A) 10 f.
B) s8fi
c)y 7M™
D) 5 f.

1000 W, ol U AR &1 2.5 [F.4T.
AR 2| Al aR &1 qTEdR 196 e
g A =T o @ arR A SO
LU TR BT AN FAT BN

A) 180 #.¥.™
B) 380 #W.Y.™"
C) 420 #M.A.™
D) 280 #.9Y.™"

@ & gar ¥ §=Evor 19 areh
ufshar grar 2

A) \¥ag

B) wErar

C) dHeE™

D) WHIATAGA

IR R Frafa & e s ge
qE] BT ITATH BraT 2|

A) 3IFa

B) 3iftreem

C) =ga<aH

D) ¥=
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107.

108.

108.

110.

111.

The distance between a node and the
succeeding antinode in a stationary
wave of wavelength ) is

A) A/a B) A/2
C) A D) 2A

A hall of dimension 15mx10mx5m Is
found to have a reverberation time of
1.15 if the walls and floor have an
absorption co-efficient of 0.03, then
the absorption co-efficient of the
ceiling is

A) 0385 B) 0.65

C) 0.75 D) 0.80

The radii of curvature of surfaces of a
double convex lens are 20 cm and 40
cm and its focal length is 20cm. The
refractive index of material of lens is

A) 1.55 B) 1.75
C) 1.67 D) 1.85

The refractive indices of water and
glass respectively 4/3 and 3/2. The
refractive index of water with respect
to glass is

A) 2 B) 1/2

C) 9/8 D) 8/9

With increase in wavelength,
refractive index

A) Increases
B) Decreases

C) Remain unchanged @

D) None of above 00ORAOOSQ
@polytechnicwalle

Equipotential surfaces and electric
line of forces

A) Cut each other at 0°

B) Cut each other at 90°

C) Cut each other at 45°

D) Do not cut each other

106.

107.

108.

109.

110.

1.
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AR Freu sl ywrs @ fg @
@ syt @ ¥ Rrrer avn
e A 2, 'xar @

A) A/4 B) /2

C) A D) 2A

U® 8fd &1 Argad 15%.x 109, x5,
?Iﬁwmmt‘; |, 2
afe fRamet sk wawy @1 ey
AUie 0.03 2 o Ba &1 oy
UNE B |

A) 035 B) 0.65

C) 0.75 D) 0.80

v fgs<a o @) wast @ amar
e 20 | @k 40 AR 2
qAT IED! BIHE o 20 QAL 2
A @ ugref &1 auadais 2|

A) 1.55
C) 1.67

B) 1.75
D) 1.85

Widl Ud Big @ Aqaddid HAI: 413
qeIr 3/2 2| O BT Sia S andaET

IAugdiS BT |
A) 2 B) 1/2
c) 9/8 D) 8/9

wreed d g & WY IAYTAAD
DI HIH

A) dedr e

B) ®ear @

c) amRaffa w&ar 2

D) I W PIg TE

wAfead aa SR dgd 9 @
A) TH R &I 0° R Prea &
B) U® gEX & 90° WX Fed &
C) U gaY & 45° R &red &
D) P R & T& dred &

EE(LE)2022





112,

113.

114,

115.

116.

Two fixed point charges 4Q and 2Q
are separated by a distance ‘X’. When
should the third point charge ‘Q’' be
placed for it to be equilibrium

A) 0.45X B) 0.90X
C) 0.70X D) 0.59X

The potential difference between two
parallel plates is 10 volt. If plates are
separated by 5cm. The force on
electron between the plates is

A) 1.6x10° N
B) 3.2x107°N
C) 2.8x10"°N
D) 4.8x107'°N

The potential of the earth is taken as

A) Positive
B) Negative @
C) Zero
000RA0OAGQ
D) Allabove @polytechnicwalle

The point charge +4C and +9C repel
each other with a force of 36N of a
charge of -5C is added to each of
them, the force between them is

A) 4N (Repulsive)
B) 4 N (Attractive)
C) 8N (Repulsive)
D) 8 N (Attractive)

Around a point charge on a plane the
equipotential lines are

A) Straight
B) Circular
C) Parabola
D) None
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112.

113.

114,

115.

116.

7l FiR=a fasg smaw 4Q 3R 2Q
U qER @ X' g0 9v Rera 2
T A= Q' A B AT
@ fe #el @ |

A) 0.45X B) 0.90X
C) 0.70X D) 0.59X

QA wwR et @ 4=
Rrarr 10°V 21 afy ufg@en &
5 Q. @ e HY f&AT oG, b
gfzeren @ fia geraga @ fea
gl I |

A) 1.6x10° N

B) 3.2x107°N

c) 2.8x10"°N

D) 4.8x107'°N

qaaﬁarﬁw—q"s’m%

A) IATHS
B) FUITHS
C) ¥IIH
D) &t

Tl fa=g smde +4C US +9C TS
T & 36N 9a 9 ufasfia awd
2] afs -5C 3ImaY I H e
feam s, A <14 & 9= 99 )|

A) 4N (fasfia)
B) 4N (amsf¥a)
C) 8N (ufusfia)
D) 8N (s=fa)

TP ad ? fag Imaer @ ar) s
Tafaad) @ 2f

A) Href
B) JO@R
C) g
D) &g
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117.

118.

119.

120.

Two tiny identical metal ball of 10gm

each carrying equal positive charge
are suspended form “I'm long string.
These balls repel each other and
them come to equilibrium making an
angle of 37° with the vertical. The

charge on each ball is

A) 3.44 NC @

& savie 000RA0PSQ
C) 2.43NC RAOA

D) 2.73NC @polytechnicwalle

A charge of q; = +5 NC is placed at
the origin while a charge q; = +10 NC
is placed at a distance 50 cm from the
origin along X-axis. The point where
the electric intensity due to these two
charges will be zero.

A) 0.52cm
B) 021cm
C) 0.34cm
D) 064 cm

The cause of electric conductivity in
semiconductor is

A) Electrons only

B) Holes only

C) Both electrons and holes

D) None of them

The forbidden gap of germanium at
absolute zero is nearly

A) 0.01ev

B) 0.72ev

C) 1.02ev
D) 7.2ev
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117.

118.

119.

120.

U Mer arfl R A @ e
AR g B MNA gAS B 10
UM oM dedg M 21 ar
MA wfedn & are arg § sy
SeEfer A 37° @1 wer qwd 2
UAS MA T A B A4 B

A) 3.44NC
B) 5.42NC
C) 243NC
D) 2.73NC

T% AW gy = +5 NC 1o g w=
XEl AT ®, WEfe qENT SRW g, =
+10NC 9« fag & s0 Q.M. ux
X- 37 W 2| 9% W w@ W 39
A It B BRY Aga dear
[ B

A) o052 9.4,
B) 021 |.4.
C) 0.34 |.9.
D) o0.64 ¥.H.

gefaTes ¥ faga ardsar &1 sR9
21

A) Fad gAFRIT

B) ®aw fog

C) = AT ik fw

D) ¥ ¥ & &)

A ¥ a9 W) wffam ¥ afvfq
&7 gar

A) 0.01ev
B) 0.72ev
C) 1.02ev
D) 7.2ev
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121.

122,

123,

124,

125.

126.

127.

If the work function of metal be 2.8ev,
than the threshold wavelength will be

A) 4433A B) 3344 A
C) 4000 A D) 3000 A

The sun releases the enormous

amount of energy by the known
process of

A) Nuclear fusion
B) Nuclear fission
C) Burning of gases
D) None of above

The dimension of plank constant is

A) MLT? B) MLT
c) ML D) MLT?

Hard x-rays are obtained form
A) Cathode ray tube

B) Gas-filled tube

C) Coolidge tube

D) Radio-active materials

Laser beam is made of

A) Electrons

B) Highly coherent photons
C) Elastic particles

D) Excited atoms

The Non-renewable source of energy
is "

A) Coal

B) Solar energy

C) Wind energy

D) Water energy

The colour of the nano gold particles
A) Yellow

B) Orange

C) Red

D) Variable
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121.

122.

123.

124,

125.

126.

127.

afe fedl g &1 s1d wae 2.8 ev
gl @ ageh a¥w ded Bm

A) 4433A
C) 4000 A

B) 3344 A
D) 3000 A

@ g aftre wEn A Swt s
s @ ufear @

A) DY HoagT

B) -fWaa fawsa

c) A &1 ST

D) s & ®Ig T

wiie Praars &) faar 2

A) ML*T?
c) mLT!

B) MLT"
D) MLT?

HIR Taa—fHvt yra Y et @
A) dUrs fHIel el

B) w wR e

C) w&fars el

D) *fsar wfpy aa

doY fevor g+ g 2@
A) getagrl

B) 3ifaddl Hag wiciH
C) Yw™rRel Hul

D) SW® TRAI

sfieefy s &1 &g 2
A) ®Igen
B) Wk swf
C) vua+ Swf
D) wia Swf

AN Mes o &1 47 e
A)  drar

B) =Y

C)

D) uRafkfa
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128.

129.

130.

131,

132,

133.

One parsec is equal to

A) 2.26 light years
B) 4.36 light years
C) 3.26 light years
D) 5.46 light years

The dimensions of . I— is
M

A) LT? B) T?
C) LT D) M'T

The number of significant figures in
30.00 m are

A) 1 B) 2

C) 3 D) 4

A physical quantity y= a*b?/ (cd4)"3
has four observable a, b, cand d. The
percentage error in a, b, ¢ and d are
2%, 3%, 4% and 5% respectively, The
error in y will be

A) 6% B) 11%

C) 12% D) 22%

Which of the following is
dimensionless?

A) Virg B) Vvigir
C) vgir D) Vg

The tension in the string in the pulley
system shown in figure is

6 kg 10 kg
A) 57N B) 7N
C) 75N D) 74N
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128.

129,

130.

131.

132.

133.

U R8P & awraw gy 2
A) 2.26 y&rer 97
B) 4.36 9T oy
C) 3.26 y&rer g
D) 5.46 warer 9¢f

7
\)—A?Wﬁ‘ﬂﬂ?[ﬂﬁl

A) LT?

-2
C) LT <

D) M'T
30.00 Hlo ¥ wrefw siml Y W &

A) 1 B) 2
g) 3 D) 4

U Aifae Ry = a*h? / (cgh)?
@ IR AT a, b, cT d ¥ whiwg
Afeat wwer 2%, 3%, 4% atx 5%
e IR y % wfvera 3fe g

A) 6% B) 11%
C) 12% D) 22%

Frefafaa & @t fards 2

A) ViIrg
C) vagir

B) Vigir
D) vrg

Ry ¢ fors ¥ Rroff From ¥ <1

A 919 &1 7 2

000RA0PSQ
@polytechnicwalle

6 kg 10 kg

A) 57N B) 7N
C) 75N D) 74N
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134.

135.

136.

137.

138.

139.

A 100g ball moving with speed of
20ms” returns in opposite direction
with speed of 30ms™ after striking
with a bat the impulse

A) 15NS B) 10NS
C) 5NS D) 20NS

The maximum velocity of a particle
executing S.HM with an amplitude
7mm is 44 mi/s. The period of
oscillation is

A) 100s B) 10s
C) 01s D) 0.01s

Acceleration of a body moving with
constant speed in a circle is

A) Zero
C) wir

B) wr
D) ™

A force of 5N acts on a body of
weight 9.8N. What is the acceleration

A) 49 ms* B) 5ms”
Cc) 146ms? D) 05ms”

If two protons brought near to each
other, the potential energy of the
system will

A) Increases

B) Decreases

C) Remaining the same

D) Be equal to kinetic energy

The potential energy of a long spring
when stretched by 2cm is U. If the
spring is stretched by 8 c.m the
potential energy stored in it is.

A) 16U B) 8U
c) 4u D) U4

134.

135.

136.

137.

138.

139.
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U@ 100 Ul &T A7 20 AN /A, A
@ 2| dodl W@ <A B AR
zofl /¥, | dUdE farda famm A
gy 2, @t smaT fHar 21

10 NS
20 NS

A) 15NS B)
C) 5NS D)

T Ed W wd ¢d BT DT
sftrean AT 44 M/A T TR
arars 7 . 2| sadera fea
21

A) 100s B) 10s

C) 01s D) 0.01s

fraq ordl @ gaTeR 9 W TR PR
T geg B @xvT ear @

A) T™
c) w/r

B) wr
D) W

F a%g RrasT AR 9.8N § 9E W
5N BT 9cf ST HY V@1 2 | Xl Bl
A= faan R |

A) 49 ms® B) 5ms”

C) 1.46ms” D) 0.5ms?

afe @ wied & S T B
Tordls @rr oar @, 9 e @
Reftrar st @ar &

A) dgar 2|

B) ®=ear 21

c) uRaffa v&ar 21

D) i Suif @& SxmEx 8|

e ol Ry & 2 9.0 aF e
wirar @1 saa Refos swif U 2
afe fReiv & 8 V. & E=r wmar
2 o, v Rafow swf &1 o=
fpa-r 21

A) 16U B}'au

C) 4u D) u/a
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140.  In uniform circular motion, the work 140. & w99 qareR 7fY § afe
done by the centripetal force is T R fa=T @rf &rar 2
A) Greater than zero but smaller .
than infinite ) A) T A EF W ara § o
B) Infinite B)
C) Zero € ;T _
D) None of these D) =T & #i¥ )
141. A bomb of mass 30 kg at rest 141. U 99 fuer sane frmrger o
explodes into two pieces of masses 30 f&.a. 2, @ s ¥ g @
18 kg and 12 kg. The velocity of 18 kg AT ® | fraeT Teme 18 feL
. -1 z o o
::s;sr- :a::'l:. . The kinetic energy of A 12 fhan 21 18 Fe.OT. BT AT
6 M./Aq. 2| TR wegwE &1 TR
A) 3244 B) 486J Sut R 2
C) 256J D) 5244 A) 324 S B) 486 S[
C) 256 S[a D) 524 S[A
142. The kinetic energy of a body 142. & axq &1 wfawr Sof 300% <o
increases by 300%. The linear omar ®, af YEh adw N feasn gfE
momentum of the body increases by ghm
A) 300% B) 150% A) 300% B) 150%
143.  Which of the following possesses two 143. fr=ifafaa ¥ 9 a9 Q) yor @1
types of bulk moduli AT FeATRIAT T[ONE ¥ 2 |
A) Solid B) Liquid A) I B) @4
C) Gas D) All of the above c) twu D) SuT aH
144. A sphere contracts in volume by 144. Ifg v Ma &t B gag ¥ 1
0.01% when taken to the bottom of fpaf. g we ST e ar
sea 1 km deep. The bulk modules of AT A 0.01% B &N 8 Wi 2|
the material of the sphere is Ma & garef &1 Jra yearerdn
' ToTd 2|
A) 6.8x10"° Nm? A) 6.8x10" =ge- /M.’
B) 5.2x10" Nm? B) 5.2x10"° =ges1 /.’
C) 9.8x10"° Nm” C) 9.8x10" =qe+ /.2
D) 4.8x10" Nm? 10 2
D) 4.8x10" =ge= /.
145.  With increase in temperature, the 145. A # 9fE @ W %@ @1 g
surface tension of liquid GEIGE @
A) Increases A) dFedar 2|
B) Decreases B) =edr 21 000RA0MSQ
C) Remain unchanged C) 3smRafifa wear 2 @polytechnicwalle
D) None of these D) SR N ¥ a)—‘ig ‘:r&ﬁ‘|
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147.

148.

149.

150.

The height to which kerosene will rise 146.
in a glass capillary tube of 0.2mm
diameter when dipped in kerosene
given surface tension of kerosene
=0.026 Nm™' angle of contact =26° and
density of kerosene =0.82x10° kg/m®
A) 3.4cm
B) 5.8cm @
C) 42cm
D; aacm 000E00eQ

¥ @polytechnicwalle
The surface tension of a liquid 147.
depends on
A) Temperature
B) Impurities
C) Concentration
D) All of above
What should be the maximum 148.
average velocity of water in a tube of
dimeter 2 c.m., so that flows is
laminar. The viscosity of water is 10°
Nm?s™
A) 0.02ms”
B) 0.3ms”
C) 0.05ms”
D) 0.03ms™”
Water comes out of a hole at the 149.
bottom of a tank at 9.8ms”. The
height of water in the tank about.
A) 05m
B) 50m
C) 25m
D) 1m
The dimensional formula for co- 150.
efficient of viscosity
A) mLt! B) ML*T
c) m'T! D) MLT?
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afy 0.2 faf. @ areh STl Bl
R @ A garm wme @
SR B A fpa-n Sdarg P
g3 | Rar 2, ®RE &1 <
gara =0.026 T @', wrferor
=26° G2 ARA B GTA
=0.82x10° fB.TT. A~

A) 34 . Hlo

B) 58 .11

c) 42 QAL

D) 6.2 WAl

Hﬂﬂﬂ\'{ﬂaﬂ?{af?ﬁ‘\’ﬂﬂmﬁl
A) qmd

B) argfedl

c) Wr=dl

D) SuRrad @l

w TN B @ 2 Q. Bl ¥
aeft F Ul @1 aftreaw Itwa AT
fpaer B aifeé ST UdlE =RT
¥t 97 <@ | U BT T IO
10° =g AR R

A) 002 H.E.

B) 0.3 #.E."

C) o0.05 #.4.

D) 0.03 #H.9."

s & B A A 9 e @ urll o
g M.A.' QA 9 I @ R, AP
¥ g @Y SAE dTEHT 2 )

A) o5 . @

B) 50 0000
Cc) 25 . @polytechnicwalle
D) 1.

war one &1 fafa g3 2 )

A) mMLT B)
c) mu'r’ D)

ML
MLT?
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